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Lesson 1.3
Properties of Numbers

• Objectives:

– Recognize the properties of equality and identity.

– Recognize the Commutative and Associative Properties.
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PROPERTIES OF EQUALITY
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Aug 26­8:19 PM

a. Can you think of a number that can be added to any 
number to keep that number the same?

b. Can you think of a number that can be multiplied by 
any number to keep that number the same?
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Addition Properties
• Additive Identity:0(the sum of any number and 
0 is equal to that number)
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Multiplication Properties

• Multiplicative Identity: 1 (the product of any 
number and 1 is equal to that number)

Multiplicative Inverses (Reciprocals) – two 

numbers whose product is 1
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Ex 1. Evaluate Using Properties
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Practice
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Commutative Property

Commutative Property – the orderin which you add or multiply 
numbers does not change their sum or product

**NOTE – This property does NOT work for 
subtraction and division.**

Addition Multiplication

Symbols a + b = b + a a • b = b • a

Examples 4 + 8 = 8 + 4 7 • 11 = 11 • 7
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Associative Property

Associative Property – the way you group3 or more numbers when 
adding or multiplying does not change their sum or product

**NOTE – This property does NOT work for 
subtraction and division.**
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Ex 2. Evaluate Using Properties

Evaluate 2 ● 8 ● 5 ● 7 using properties of numbers. 
Name the property used in each step.

You can rearrange and group the factors to make mental 
calculations easier.

2 ● 8 ● 5 ● 7 = 2 ● 5 ● 8 ● 7 Commutative (×)

= (2 ● 5) ● (8 ● 7) Associative (×)

= 10 ● 56 Substitution

= 560 Substitution

Answer:

  

560
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Practice
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